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Abstract

Bundled-Tube Structure has-been widely accepted by structural engineers in
design of high-rise buildings. Since frame-tube structure is formed by closely spaced
perimeter columns that are connected by deep spandrel beams, shear lag effect appears
if the stiffness of spandol beam is small. Tubalar structure can not fully exploit the
potential stiffness and strength due to shear lag effect. This thesis is to analyze shear
lag effect on behavior of bundled-tube structure under wind load.

To do this, program SAP2000 is used to perform the analysis with the parameter
changes which are the change of stiffness of spandol beams and cross-section of

column.

Keywords: Frame-Tube Structure, Bundle Tubular, Shear Lag Effect, SAP2000, Wind

Load, High-Rise Building.
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